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(5%f8 2) It's because words produced by a speech synthesizer come out with a very weird, flat, clipped

monotonous kind of speech.

(§%f1 3) Because Kanzi might have grasped the words “throw” and “river” in the sentence.

(8%f] 4) The fact that Kanzi does the right thing can’t prove he understands the meaning of the word order.

- (3%[ 5) Get the orange that’s in the colony room.

(3%[ 6) When his mother, Matata, was grabbed by a trainer, Kanzi signed “Grab Matata.” But when Matata

bit someone, he changed the order to read, “Matata bite.”

(&R 7)
(T ) 1.Kanzi learned to use symbols by watching others.
(F) 2. Kanzi understands more than 200 English words written on a board.
(T) 3. Young bonobos can understand spoken words better than adult bonobos.
(T ) 4. Kanzi and his mother can’t communicate in English.

(F) 5. Kanzi understands and produces sentences at the same time.
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(B%f12) the Confucian traditions of filial piety and familism

(%[ 3 ) lower levels of education

poorer access to healthcare
increased exposure to chronic illnesses such as diabetes

earlier life events such as head trauma and stroke

(R%ff1 4 ) The support and stability they may lend a group is still very much of value.

(%R 5) losing a second language and reverting to their first language
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